‘Which is bigger?’
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Coolmath's Graphing Calculator
(Scroll down for instructions on using the graphing calculator.)

Hey, if you need help in Algebra, check out my Algebra lessons!

>>>> Hit Eval to graph]]
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Author Patrik Lundin

Hit the Eval button to graph!

Some basic graphing calculator instructions are





These two graphs are ‘y=x+10’ (purple) and ‘y=2x+3’ (the other colour). Until the coordinates (7,17), x+10 > 2x+3. This basically means that when n (or x, in this case) is 7, then the answer to both equations is 17. If n is any higher that 7, then as you can see from the graph, 2n+3 > n+10.

In the same way, you find out that when n is -2, then 2n+7 and 4n+11 both equal 3. If n is higher, 4n+11 is larger, and if smaller, 2n+7 is larger.
However the two lines ‘y=2(3x+4)’ and ‘y=3(2x+4)’ are both parallel, so 3(2n+4) is always greater than 2(3n+4).

2(3n+3) and 3(2n+2) are the same, as when expanded, they are both 6n+6.
